HISTORY AND GOVERNMENT 

PAPER 2

MARKING SCHEME
1.
What term refers to the ancient organic remains. 




        (1mk)


- Fossils 



(Any 1x1) = 1mk 

2.
Name one type of Australopithecus 






        (1mk) 


i) Australopithecus 
Anamasis 


ii) Australopithecus 
Aforensis 


iii) Australopithecus 
Africanus/Agracilis 


iv) Australopithecus
Robustus/Boisei 


(Any 1x1)

3.
State two aspects of culture of the Early man that has their origin in the late stone age.   (2mks)


i) Growing of crops 


ii) Establishing permanent settlement 


iii) Making microlith tools 


iv) Beginning of religion 


v) Establishment of government 


vi) Pottery and Basketry 



Any 2x1=2mks

4.
Give one social consequences of Early Agriculture in Egypt 


       (1mks) 


i) Led to population increase 


ii) Led to settled life/permanent settlement 


iii) Led to development of urban centres


iv) Social classes emerged/specialization


v) Development of writing 




Any 2x1=2mks 

5.
Give two means of water transport used during ancient times 


       (2mks) 


 i) Rafts 
ii) Canoes
iii) Dhows
iv) Oar boats 
6.
Give two advantages of drum beating as a form of communication over the use of smoke 
signals during the pre-colonial period.





       (2mks)

i) Drum beating could be used any time day or night while smoke signals can only be used during 
the day 


ii) Drum beating relayed specific messages while smoke relayed general message 


iii) Drum beats can be heard even if one is not on the look out while smoke signal one must be on 
the lookout 


iv) Drumbeat spread messages faster than smoke 

v) Drum beats can be used during all season whereas smoke can not be used during misty and 
cloudy weather

7.
State one reason why African slaves were proffered during the trans-Atlantic Slave trade 
        
i) Were thought to be resistant to many diseases

ii) were readily available in large numbers 

iii) Were cheaper to use than European or red Indians 

iv) Were thought to be adaptable to hot and humid tropical climate

Any 1x1=1mk 

8.
Give one source of labour force in industries in Europe in the latic 


        (1mk) 


i) land less peasants 


ii) Immigrants from other countries 

9.
State two factors that facilitated scientific revolution in Europe from 14th Century       (2mks) 


i) Renaissance time made people develop interest in research/learning 


ii) Governments and individual financed Scientific research 


iii) Need to solve problems like food shortages, diseases 


iv) Religion failed to answer all questions 




Any 2x1=2mks 

10.
Give one reason for the decline of Kilwa 






(1mk) 

i) Interruption/decline of gold trade 


ii) attack by the Portuguese 


iii) Dynasty rivalries/rivalry of the ruling 


iv) Series of rebellion among some of the towns conqured by Kilwa e.g Sofala 
Any 1x1 = 1mk 

11.
Name two officials who assisted the emperor in the administration of the Shona Kingdom  

i) The head drummer 


ii) Chief cook 


iii) Queen mother 


iv) The gate keeper 





Any 2x1=2mks 

12.
Identify two military tactics employed by Samouri Toure against the French 
       (2mks) 


i) Guerilla 
ii) Scorched earth policy 

13.
Name two former Portuguese colonies in Africa 




       (2mks) 

i) Cape verd
ii) Angola
iii) Mozambique
iv) Portuguese Gunea 

Any 2x1

14.
Give two external factors that led to Nationalism in Mozambique 

       (2mks) 


i) World Wars 
ii) Pan Africanist 
iii) Independence of Ghana 
Any 2x1

15.
State the main reason that led to the end of Second World War 


        (1mk) 


i) The bombing Hiroshima and Nagasaki with atomic bomb by the U.S.A

16.
Name the headquarters of the international court of justice as an organ of the united Nations organization 










        (1mk) 


i) Hague in Netherlander 

17.
Give one military organization formed by power blocks during the cold war period 
        (1mk) 


i) War saw Pact 
ii) North Atlantic treaty Organization (NATO) 

SECTION B
(45MKS)

Answer any three questions

18.
a)
State five factors that led man to start domesticating of plants and animals 
      (5mks) 


i) Diminishing hunting grounds 


ii) Hunting and gathering was tiresome 


iii) Competition for food between man and animals 


iv) Climatic changes that affected vegetation 


v) Availability of indigenous crops 

vi) Increase in population 


vii) Migration of animals 


viii) Natural calamities that destroyed vegetation


Any 5x1=5mks 

b)
Explain the results of Aguarian revolution in Europe 


     (10mks) 


i) Landlessness-poor peasants were displaced from their land 


ii) Increased food production 


iii) Increase in population due to enough food 


iv) Development of  industries; Agriculture provided raw materials to be processed by industries 


v) Development of trade, excess farm produce was sold locally and externally 


vi) Social stratification-some people became rich leading to a class of wealthy people 


vii) Led to scientific development in the field of Agriculture. 
Any 5x2 = 10mks 

19.
a)
Outline three advantages of road transport



       (3mks) 


i) High number of accidents on roads leads to lose of life 

ii) Pollution caused by exhaust fumer 


iii) The use of roads is limited to specific areas i.e cannot go beyond land 


iv) Construction of all weather roads is expensive 


v) Due to increased number of vehicles on roads, traffic congestion is a major concern in most 
cities and towns 


vi) When roads become impassable specially those that are not all weathered 


vii) The quantity of goods carried is limited as roads cannot carry bulky goods compared to 

the railway.                                                                                          3x1 =3mks
b)
Explain six effects of telecommunication in modern society 

     (12mks) 


i) Improved communication; there is good communication between countries, government and 
citizens 


ii) Mass entertainment through radio; television and cinema 


iii) Education-education by radio and Television to public schools 


iv) Transport- ship at sea and Aeroplane in the Air have kept constant touch through 
telecommunication gadgets 

v) Exploration of outer space-satellites sent to space are able to send information 


vi) Warfare-they help in conducting warfare. They help to make precise target on the enemy 


vii) Cultural imperialism/ Western culture has been imposed on many people through films and 
television 


viii) Development of trade 


ix) Promoted National Unity 


x) Provided National Unity 


xi) Provided employment Opportunities                          6x2 =12mks
20.
a)
Give three reasons why Lobengula was defeated by the British in 1893 
      (3mks) 

i) Lack of modern weapons 


ii) Lack of Unity 


iii) The British had superior weapons 

b)
What were the results of the British Ndebele war in 1893

     (12mks) 


i) The Ndebele were defeated by the British which signaled the beginning of European settlement
 and control in Matabele land hence the Ndebele lost independence 

ii) The British South African company imposed heavy tax empowered by the Ndebele order 
council of 1894 


iii) Introduction of pass laws to prevent movement 


iv) Land alienation 


v) Creation of reserves to create room for European settlement 


vi) Ndebele lost a lot of wealth since their cattle which were economically viable were confiscated 


vii) The Ndebele were reduced to slaves and squarters in their own country 
Any 6x2=12mks 
21.
a)
Identify five factors that led to early urbanization in Africa

       (5mks)


i) Neolithic revolution in Africa led to improved food production leading to sedentary life in 
settlement which developed into towns 


ii) Urban centres developed along trade routes for example the trans-saharan trade. E.g Timbuktu,
 Jenne 


iii) Harbours and ports where ships stopped to replenish their supplies of fresh food and water

 developed into urban centres 


iv) the early centres of religion attracted population concentration e.g in Yoruba land leading to 
death of urban centres. 


v) Some early urban centres e.g meroe developed into urban centres because of the growth and 
development of the early small scale industries such as mining 


vi) The need for security encouraged people to settle in protected centres some of which developed 
into towns 


vii) Some administrative centres of the pre-colonial kingdoms in Africa developed into urban centres 

b)
Explain the functions of Nairobi as an urban centre in Africa

     (10mks) 

i) it’s the capital city of Kenya and houses all the government offices for the executive state house, legislative (parliament) and judiciary high court, court of appeal, supreme court. 

ii) Its an educational centre for the three public universities Nairobi University, Kenyatta University and Jomo Kenyatta University of Agriculture and Technology and four private universities 

iii) The city is a business hob for many Kenyans who deal with a chain of wholesales supermarkets and retail shops e.g Nakumatt, Uchumi etc.

iv) The city is an international centre the headquarters of both United Nations environmental programme (UNEP) and human habitation (Habitat) 

v) Nairobi also host 3 many international conference at the Kenya international conference centre (KICC & many five star hotels in the city)

vi) Its an industrial city housing so many industries in the industrial area B.A.T, E.A Industries, house of Manji 
Any 5x2=10mks) 

SECTION C
(30MKS)

Answer any two questions 


22.
a)
Give three reasons why the British used direct rule to administer Zimbabwe 
      (3mks) 


i) They desired to control the economy of Zimbabwe to maximize profits 


ii) Local political institutions based on Induna system had been destroyed during the British 
occupation of Zimbabwe 


iii) To ensure complete control of African/to end African resistance 


iv) Company officials in the area were familiar with the area and British system of administration 


v) Adequate finance for administration from the colony 


vii) Adequate personnel from the white settlers

Any 3x1 = 3mks 

b)
Explain six reasons for the failure of the policy of assimilation 

     (12mks) 


i) The school system did not do much to indoctrinate the Africans sufficiently on values of the policy 

ii) It was an expensive policy to implement and maintain 


iii) The policy was only confined in the four communes while the rest was left untouched. 


iv) The system faced opposition from the Muslims 


v) Cultural disparity that existed between African and the French e.g Africans were polygamists 


vi) Racial discrimination-the French resented the idea of equality with Africans in parliament 

vii) The African chief were hostile to the policy because it reduced their power and authority were undermined 


viii) Increased desertification from African elites who were elected to French parliament 

ix) Differences between French lega system and African customs 


x) It was unworkable due to high standards and difficult conditions expected for one to be 
assimilated 


xi) Rise of Nationalism which undermined the policy. 
Any 62x=2mks

23.
a)
Name five members of the commonwealth in West and South Africa
       (5mks) 

i) Botswana 


ii) Gambia 


iii) Nigeria 


iv) Namibia 


v) Swaziland 


vi) Lesotho 







Any 5x1=5mks

b)
Explain five ways in which the commonwealth countries have benefited from 
the organization







     (10mks) 

i) The organization has provided a forum for member states to air their views with one 
voice on international issues.

ii) Member states have received technical know how through the provision of experts and advisers in various fields e.g Agricultural personal 

iii) Member states have conducted trade among themselves with relative ease and this has helped them develop their economies 

iv) The developing member states of the organization have acquired skilled man power through the provision scholarship and setting up of the training programme by developed states e.g Canada and Britain 

v) Member states have been able to interact with one another through activities such as the common wealth games and exchange programme, cultural interaction etc

vi) The commonwealth has promoted friendship and understanding among member states through conferences such as the commonwealth head of govt meetings 

vii) it has enhanced democratization process in developing member states of the organization through sending observers to monitor democratization activities e.g general elections.                              5x2=10mks
24.
a)
Enumerate the functions of Electoral Commission of India

       (5mks) 


i) it appoints the election of officials such as presiding officers incharge of polling stations 

ii) It publishes the code of conduct to be maintained before and during the election period 

iii) Regulating the election expenditure each party and candidates through enhancement in the areas of observation where the observers keep watch on the amount money spent 


iv) Keeping and updating voters register 


v) Conducting and regulating all the election procedures in India at the national and state levels .


vi) Facilitate proper media coverage of the election process 


vii) Ensuring that elections are conducted in a fair and free manner 


viii) Deciding polling days for the various constituencies 


ix) Preparing polling stations by availing boxes, ballot papers, polling booths. 


x) Solving party differences caused by frequent alliances, merges & splits 


xi) Registering political parties 


Any 5x1=5mks 

b)
Explain the power and functions of  British Prime Minister


     (10mks) 

i) He/she is the head of government in Britain invited by the monarch to form the government 
after his party wins 


ii) Appoints dismisses ministers but with the consent of the monarchy 

iii) The prime minister prepares the monarchial speech to be read during opening of a parliamentary session 


iv) He/she is in charge of the House of Commons i.e lower of parliament 


v) Prime minister can request the monarch to dissolve parliament before its five year of office is over 
vi) The Prime Minister recommends the monarchy the names of candidates to be appointed to senior judicial offices e.g Lords, Chief Justice, Royal commissions those to be conferred with civil honours and distinctions 


vii) He/she presides over the meeting of cabinet 


viii) Disputes between different ministries and ministers are settled by P.M


x) Appoints senior civil servants     2 x5 =10mks
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